

Calamba Water District

1,400-500 Satellite: 545-2726; 545-7895; 545-1389; 548-7981; 548-2863

PRIC 0949; 545-1389; 548-7981; 548-7981

Project Reference No. CWD 32-2015

INVITATION TO RE-BID FOR SUPPLY AND DELIVERY OF GALVANIZED IRON FITTINGS AND GATE VALVES

Item no.	Description	0	rv	Unit Cost	Total Amount	
	Γ NO. 1	QTY Unit Cos			1 Total remount	
	VANIZED IRON FITTINGS					
	Bushing			DI TEXASONOMIS	1975-1-91	
1	1 1/2" x 1"	2	pes	49.28	98.56	
2	1 1/2" x 1/2"	942	pes	51.69	48,691.98	
3	1 1/2" x 3/2"	150	pes	72.69	10,903.50	
4	1" x 1/2"	952	pes	25.40	24,180.80	
5	1" x 3/4"	409	pes	32.92	13,464.28	
6	2" x 1 1/2"	2	pes	83.03	166.06	
7	2" x 1"	376	pes	73.45	27,617.20	
8	2" x 3/4"	137	pes	76,00	10,412.00	
9	3 x 2"	2	pes	145.95	291.90	
10	3/4" x 1/2"	868	pes	22.29	19,347.72	
1000	Union Patente					
1	1 1/2"	430	pes	159.00	68,370.00	
2	1"	502	pes	114.59	57,524.18	
3	1/2"	831	pes	40.32	33,505.92	
4	2"	384	pes	223.00	85,632.00	
5	3/4"	560	pcs	50.40	28,224.00	
	90° Elbow				=	
1	1 1/4" x 1"	12	pes	50.60	607.20	
2	1"	214	pes	52.58	11,252.12	
3	1" x 3/4"	87	pes	78.74	6,850.38	
4	1/2"	2155	pes	25.00	53,875.00	
5	2"	49	pes	115.20	5,644.80	
6	3/4" x 1/2"	1161	pes	36.81	42,736.41	
7	34"	1132	pes	33.95	38,431.40	
8	4"	2	pes.	610.30	1,220.60	
	St. Elbow					
1	1 1/2"	320	pes	98.70	31,584.00	
2	1"	124	pes	58.76	7,286.24	
3	1/2"	1518	pes	20.00	30,360.00	
4	2"	322	pes	120.00	38,640.00	
5	3/4"	417	pes	35.40	14,761.80	
	Coupling	10,000			-	
1	1 1/2"	1054	pes	52.20	55,018.80	
2	1 1/4"	- 6	pes	50.67	304.02	
3	1"	742	pes	38.56	28,611.52	
4	1/2"	1245	pes	12.55	15,624.75	
5	2"	1284	pes	82.35	105,737.40	
6	2" x 1 1/2"	37	pcs	82.35	3,046.95	

7	3/4"	299	pcs	17.60	5,262.40
8	3/4" × 1/2"	2075	pes	30.82	63,951.50
	Tee		1000		
1	1 1/2"	37	pes	106.20	3,929.40
2	1 1/2" x 3/4"	10	pes	113.50	1,135.00
3	1"	84	pes	52.20	4,384.80
4	1" x 3/4"	91	pcs	56.95	5,182.45
5	1/2"	40	pes	22,60	904.00
6	2"	9	pes	181.00	1,629.00
7	2" x 1"	2	pcs	148.12	296.24
8	3"	1	pc	545.30	545.30
9	3" x 2"	1	pc	1,948.00	1,948.00
10	3/4"	393	pes	31.85	12,517.05
11	4"	2	pes	519.88	1,039.76
12	4" x 3"	1	pc	3,320.00	3,320.00
	Cross Tee	-	1.10	1	
1	1 1/2"	2	pes	157.83	315.66
2	1"	113	pes	116.70	13,187.10
3	2"	2	pes	316,25	632.50
4	3/4"	30	pes	110,21	3,306.30
	Plug	6.0	press	1	# :
1	1 1/2"	14	pes	34.85	487.90
2	1 1/4"	2	pes	11.55	23,10
3	1"	21	pes	18.65	391.65
4	1/2"	698	pcs	12.00	8, 376.00
5	2 1/2"	0	pes	120.45	1,084.05
6	2"	64	pes	48.20	3,084.80
7	3/4"	700	pes	15.30	10,710.00
	Cap Plug	1 700	Then.	1 107,075	*37,7 *37,070
1	1/2"	13	pes	20.00	260.00
2	1 1/2"	6	pes	58.50	351.00
3	1 1/4"	4	pes	25,00	100.00
4	11"	9	pes	33.96	305.64
5	2"	48	pes	74.10	3,556.80
6	3/4"	601	pes	20.97	12,602.97
0	- La 70 (1) (1) (1) (1) (1) (1) (1) (1) (1) (1)	0071	pea	4M.31	12,002.27
-	Nipple (fab) 1/2" x 3"	300	pes	30.18	9,054.00
2	1/2 × 3 1/2" × 4"	293		26.00	7,618.00
3	2" x 6"	4	pes	72.46	289.84
4	2 x 6 2 x 4"	6	pcs	72.02	432.12
distribution of the last of th	LON TAPE	0	pes	72.02	432.12
кимураны	MANUAL MA	9116	malle	3.85	35,096.60
1	12mm x 10m	19	rolls	6.92	131.57
3	20mm x 10m	1501	rolls	10.82	16,240.82
	25mm x 10m	1301	Tons	10.62	10,240,62
	SS GATE VALVE	1 2	1 000	5 705 00	17,385.00
1	100mmØ	3	pes	5,795.00	The second section is a second section of the second section is a second section of the second section
2	12mm Ø (Brass Faucet)	28	pcs	150.00	4,200.00
3	12mmØ (Brass ball valve w/ locking)	691	pes	206.39	142,615.49
4	19mmØ	8	pes	261.20	2,089.60
5	19mmØ (Brass ball Valve w/ locking)	20	pes	250.00	5,000.00
6	20mmØ (1/2")	407	pes	275.00	111,925.00
7	25mmØ	161	pes	448.00	72,128.00

8	32mmØ	362	pes	261.20	94,554.40
9	38mmØ	242	pes	676.80	163,785.60
10	50mmØ	405	pes	1,971.00	798,255.00
12	50mmØ S.S. Gate Vavle	10	pes	5,544.00	55,440.00
13	62mmØ	2	pcs	3,135.00	6,270.00
14	75mmØ	4	pes	5,491.27	21,965.08
	Total Amount		1900/1907	The Result test	2,649,319.98
LO	Γ No. 2				
- 1	12mmØ (Brass union Safety Valve)	2000	pes	452.69	905,380.00
	Total Amount		W/10/-		3,554,699.98

- The Calamba Water District, through the 2015 General Funds intends to apply the sum of THREE MILLION FIVE HUNDRED FIFTY-FOUR THOUSAND SIX HUNDRED NINETY-NINE PESOS & 98/100 (P3,554,699.98) being the Approved Budget for the Contract (ABC), payments under the contract for CWD-32-2015. Bids received in excess of the ABC shall be automatically rejected at bid opening.
- 2. The Calamba Water District now invites bids for SUPPLY AND DELIVERY OF GALVANIZED IRON FITTINGS AND GATE VALVES (RE-BIDDING). Delivery of the Goods is required 1 to 4 weeks upon receipt of Purchase Order. Bidders should have completed, one to two years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II. Instructions to Bidders.
- Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183 and subject to Commonwealth Act 138.

 Interested bidders may obtain further information from Calamba Water District and inspect the Bidding Documents at the address given below during office hours from 8:00 a.m. to 5:00 p.m.

A complete set of Bidding Documents may be purchased by interested Bidders on September 24, 2015 up to 12:00 n.n. of October 13, 2015 from the address below and upon payment of a non-refundable fee for the Bidding Documents in the amount as follows:

Lot	Amount of Bidding
No.	Documents
1	P 5,000.00
2	P 1,000.00

It may also be downloaded free of charge from the website of the Philippine Government Electronic Procurement System (PhilGEPS) and the website of the Procuring Entity, provided that Bidders shall pay the non-refundable fee for the Bidding Documents not later than the submission of their bids.

- The Calamba Water District will hold a Pre-Bid Conference on October 1, 2015 @ 10:00 a.m. 5. at 2nd Floor, CWD Warehouse Building, Lakeview Subdivision, Brgy. Halang Calamba City, which shall be open only to all interested parties who have purchased the Bidding Documents.
- Bids must be delivered to the address below on or before 2:00 p.m. of October 13, 2015. All 6. Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 18.

Bid opening shall be on 2:00 p.m. of October 13, 2015 at 2nd floor CWD Warehouse Building, Lakeview Subdivision, Brgv. Halang Calamba City. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the address below. Late bids shall not be accepted.

- 7. Bidders have the option to bid in one or both items.
- The Calamba Water District reserves the right to accept or reject any bid, to annul the bidding 8. process, and to reject all bids at any time prior to contract award, without thereby incurring any liability to the affected bidder or bidders.
- 9. For further information, please refer to:

Calamba Water District **Bids and Awards Committee BAC Secretariat** MR. CEFERINO LEGASPI Lakeview Subd., Halang, Calamba City City Code: 4027 Tel Nos. (049)545-1614; 545-2863, Local 116 cwd_bac@yahoo.com Fax No. (049) 545-9752/502-7108